Rozmérova schémata

Venkovni jednotky

MXZ-5F102VF

796

407

175 175
7.4 A
514
2-U Shaped Notched Hole
10 86.5 (Foundation Bolt M10)
gl o #%l ©
S e =
0 REf :
T ; ol
- z
& I o2
o &~
Airin &> 8 RoS
B
g |®
6-¢33 Drain Hole T‘ i [&F i 7
e 0 =
|10 -
-12x36 Oval Hals
(Foundation Bolt M10)
MXZ-6F122VF
JAirin
175 600 175
71 250 80 97 116 2-U Shaped Notched Hole
5 (Foundation Bolt M10)
w0
o Ol o gl ©
©|F| = y
Tk + :
S T T -
) L L ol ~
Airin & © = I SE &
f Il o 2
: el 2 o
T 3
6-033 Drain Hole Sr = T — )
R0 oot B N0k 5
2:12x36 Oval Hole
(Foundation Bolt MT0)
MXZ-2F53VFHZ
75 600
714 2664, e
514 Arin 2-U Shaped Natched Hale
0. 865| 93316 (Foundafion Bolt M10)
g g o b o
9o 11
= bbb+ oz
i 3
8 ol o
Sice Ar in > Fl- S
° 8 g
6-933 Dran Hole . L
ol i)
Tk grrar TN\ o A

MXZ-4F83VFHZ

2-12x36 Ovol Hale
(Foundation Bolf Mi0)

Gairin
175 600
2-U Shaped Notched Hole
n 250,80.27, 16 {Foundaion Balf H10)
st T
10
~orgr T R
9|§|e
i _
o L L bt
A ol
Arine> 5 ISP
1 1o 8
(i 3 y 9|
o T T =t
6-¢33 Droin Hole . ¥ || 10 .
- FY I =

78 / M-série

2-12X36 Oval Hole
{Faundation Aall M)

25_, 330 =]
i S
Air in
E B 7'GAS} UNIT &
B Lio
UNIT D
E BTl *EAS} LIQ_ 96.35(1/4)FL ARE
F 3 1a }UN‘T ¢ [ BAS #952(/8 FLARE
e
F - }UN\T B
B *'UO} LI0_ 963511/47FLARE
sf UNT A= GRS 815701/29FLARE

1048

796

Handle

70

|— Liquid pipe : @6.35(flared)1/4 \ F unit
{— Gas pipe : ©9.52(flared)3/8 f connection

L Liquid pipe : ©6.35(flared)1/4 \, E unit
— Gas pipe : 39 52(flared)3/8 f connection

[ Liauid pipe - 96.35(flared)1/4 . D unit
L — Gas pipe : @9.52(flared)3/8 connection

— Liquid pipe : @6.35(flared)1/4 unif
[ Gas pipe : ©9.52(flared)3/8 f connection

I Liquid pipo - 96 35(fared) 114 4 B unit
pipe : @9.52(flared)3/8 | connection

= qua pipe : @6.35(flared)1/4 \ A unit
1¥ _ Gas pipe : @12.7(flared)1/2 J’ Connection

—. E Air Intake

S5 eos B ARE

.l GAS
5} o a

330

1048

563

LT
TTTTT

Handle

")

s purit D
LI0_#635(1/ £ FLARE
s Junt RS So3T sor ARe

Junit B

CEaryaaal

CoCosoc

Li0_#635(/LIFLARE
it A- R AR

“\.AIr Intake



